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TR AE 8, 000 m2
HAE KA

TR AE 6, 000 m2
HAE A
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(E3E2%5)
HERXORAB#EREY)

HERE (EE) 6, 000 m2
(583151855
HERXORABEREY)

HERE (EE) 6, 000 m2
(HEE1855)
HBRXORAB#AEY)

MR- ZABEET Y 1 6, 458, 950 | MIAH AE 25
A EAEEH #JE30emAKN ;

BIAREAE 25
A HAEER #E30ecmbl_E60em AT ;

BIAREAE 25
A HAEEM #JE60cmll E90cm Rl ;

BT AE 25
A HAEEH #E90eml_E120em AT ;

BT AE 25
A EAELAH #JE30emAK ;

BIARE A E 25
A HAELAR #E30ecmEl_E60em AT ;

BIARE A E 25
EA HAELAM #JE60cmPl E90cm Rl ;

BIARE A E 25
A FAELW #E90emLl F120em A ;

BIARE A E 100
R B AEEKTE R 100emAw |

BAE AE 100

I G G o S I o

-2 - sz T ET R




)

B N ERE

TH4 | DMEFEEE 2% - 3 1 Sfrisk - SRk REE

T4y - T - flR] HOAL &

&
‘\?é].[

il il 2! B

R BAEMGE #E100emPl E200cm 7
i

BIARE A E 100 A
R AEMGE #E200emPl E300cm
i

TR AE 2,000 m2
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